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(d) Calculate Karl
coefficient from the following data :
SR BGRB8 e e B e T
Tfere

X 130]32|35|40|48(50]|52)|55]|57]|61
Vil 1SRO8 | R28| S 8| M2 0184 K 6u| M55 S| 8

Pearson’s correlation

(e) Discuss the properties of regression
coefficient.

STARRAT SRS (TR S 7 |

* * %

(2)

(¢) What is %(C), where C is a constant?

2 (c) R, TS C bl #e 2
dx :

(d) What is Iidx'»’

[ ax R

2
(e) Find [x®dx.
1
2
Ix3dx Sferea |
1

() Write the necessary condition for

maximization of a function.

Fole (B HEHFIR CEAR HOCo! feal |

(g) What does r =1 mean?

r=14q f gem?

(h) If there are two variables, how many
regression lines will be there?
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1. Answer the following questions : 1x8=8
O SPRY e fard
@ If A={2,3,4} and B={l, 2, 3}, then
find An B.
M A=(2,3,4) W B={1, 2,3}, =@
An B e |
(b) Give an example of polynomial function.
TR o b1 Srrza fir |
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2. Answer any six from the following questions :

ADSIRRT7

2x6=12
O 2PPRYRA °l R P e ed fei
e B [0}
(@) Find lim : 2
x-1 x-1 r
20 o g
lim X =L feq | I
x—1 x-— e f“'
€0
(b) 1If y=7z, then find % C =
d <~
it y = 7z, @ Y S | ==
dz O o
C 2
2 - 22
d°y '
¢) If y=x2+2x, then find —Z. m
() 1ty e o
m
d2y
’Iﬁy=x2+2x,C€C@—2%ﬁT€ml
dx
(d) Find [2Vxdx.
[2Vx dx TfFiea |
(e) Prove that
919 €1 @
2
[ex+6)dx=16
0
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(i)
() What is local optima?
Fam ey &2
(g) What is multiple correlation?
IR PN [ ?
(h) Define the rank correlation coefficient.
T TR QA e e |
(i) Mention two differences between
correlation and regression analysis.
ST WE SR Ko Wew 7o i
TSm0
() If two regression coefficients are 0:8 and
1-2, then find the correlation coefficient.
SEET B o1 W 0-8 TF 12 W, (IS
ST B Sfered |
3. Answer any four from the following
questions : 5x4=20
SR TR o R @ BReR T forsi ¢
(a) Examine the continuity of the following
function at the point x =1 :
f(x) = x?-2x+3 , when x<1
=1 , when x=1
=2x2% -3x+5 ,.When x>1
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(¢) Evaluate :
i Sferea :
I 6;( +3 Ghe
X< +x
() Find the output level at which the
average cost (AC) is minimum, given
total cost TC =202 +5Q +18.
o 39 fran e TC =202 +5Q +18, 5% I/
(AC) > 2T TeATE BT Sfered |
(g9 Write the properties of Karl Pearson’s
correlation coefficient.
J{ {PCaR0r 2Tem @ e fora |
(h) Write a note on the least square method
of estimation of regression line.
THARRE @S S 9 Paod Bf A&y Ry
qo1 GGRT fer4 |
4. Answer any two from the following
questions : 10x2=20
©eT oPTRd ol R (I R Tl i

(@) ‘Total revenue function is given as
TR =200Q -2-50Q2

Find the marginal revenue (MR) and
average revenue (AR) functions.

{ Continued )

el
() () fy=5>+3x+2)>, then find %.}
I|m™ y= 5()c2 +3x+2)3, =63 %: -
e | Sl
(i) 1f z=4xy+x> +2y>, then find g_z_ % 0
<=
M z=4xy+x>+2y%, =@ Eg %?.
ayg -
=
Tfered | P
(c) Establish the relationship between %
average cost (AC) and marginal cost (MC)
by using product rule of differentiation.
SR [ Y R R e W (AC)
1% 1f%F T (MC) I&S S~4% o 1 |
(d) Marginal revenue function is
MR =50 -4Q, where Q is quantity. Find
the average revenue (AR) function.
A% S T 22 MR =50-40Q, IS Q
(2= 719 | 51C S (AR) Fee Sfe1e |
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T T T [l SR
TR =200Q -2-50°
4% SR (MR) ¢ % 9% (AR) Feq
Sferean | 9]
I
(b) Marginal cost (MC) is given as 2}
MC=3x%-4x+3 o
where xis output. Total fixed costis 500. =
Find total cost (TC) when x = 10. ar
ofd<s 3 (MC) fir wieR X
-
MC=3x>-4x+3 ()
Te x (= TR T RR W =R 500. ‘E
x =10 2’7 I3 I/ (TC) Bferear | m
. &
m
(c) Given total revenue (R) and total cost (C)
functions
R =30g-q*?
C=q®-15g° +10g+100
where gis output. Find maximum profit.
5 S (R) SF 92 I (C) Fo Tl SR
‘R=30g-4q>
C= q3 —15q2 +10g +100
TS q 0a0R TN | T S Sfered |
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(s)

x =1 e v FIOR WRfvzrel #({rw 9  ;
f(x)=x2—2x+3 , @S x <1
=1 , @fem x =1
=2x?% -3x+5 , @R x>1
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